Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

1Q
1.9

Ratio

0.9
0.8

Q es
| —— DQM CKFREFit-test 1000evt
—_— DQM mkFitREFit-test_1000evt

-{ —— DOM_NANTEST 1000evt

1078 1072

i
1

[ Effici

ency vs dr (track,jet) |

B O 4
a ~0.09
0: ¥ 0.08
<
£0.07
>
£0.06
&
5 0.05
£
©0.04
0.03
0.02
0.01

iy

0.2

10
AR(TP, jet)

............................................

............................................

Ratio
-

L

0.5

030 40 50 60 70 80 90 100
Pileup

1
TP min AR

-1




	Contents
	Page 1


